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Model Test One

Part 1 Listening Comprehension (15 minutes)
Directions: This part is to test your listening ability. It consists of 3 sections.

Section A

Directions: This section is to test your ability to understand short dialogues. There are 5
recorded dialogues in it. After each dialogue, there is a recorded question. Both
the dialogues and questions will be spoken only once. When you hear a question ,
you should decide on the correct answer from the 4 choices marked A, B, C and D
given in your test paper. Then you should mark the corresponding letter on the
Answer Sheet with a single line through the centre.
Example: You will hear; W Are you catching the 13:15 flight to New York?
M: No, I will leave this evening.
Q: What are the two persons talking about?
You will read: A. New York city. B. An evening party.
C. An air trip. D. The man’s job.

From the dialogue we learn that the man is to take a flight to New York. Therefore, C.
“An air trip. ” is the correct answer. You should mark C. on the Answer Sheet with a single line
through the centre.

Now the test will begin.

1. A. At a canteen. B. In a library. C. In a shop. D. In a bank.
2. A. 2:00. B. 14:00. C. 13:58. D. 1:58.
3. A. The man believes that he has a good future.
B. The woman is working in a big factory.
C. The man is interviewing a job applicant.
D. The man is interested in working in this company.
4. A. At an airport. B. In an office. C. In a shop. D. In a hospital.
5. A. It is too crowded to dance.



B. If she dances well, no one will pay attention to her.
C. Every one will laugh at her if she doesn’t know the steps.

D. It is not important how she dances.
Section B

Directions ; This section is to test your ability to understand short conversations. There are 2
recorded conversations in it. After each conversation, there are some recorded
questions. Both the conversations and questions will be spoken two times. When
you hear a question, you should decide on the correct answer from the 4 choices
marked A, B, C and D given in your test paper. Then you should mark the
corresponding letter on the Answer Sheet with a single line through the centre.

Conversation 1

6. A. April 5. B. Next Sunday. CiApril15. D. This Saturday.
7. A. They are going to have their birthday party together.

B. They are not going to have the birthday party.

C. They are not going to invite other friends.

D. They are going to put off the party.

Conversation 2

8. A. At the restaurant. B. In his room.

C. At home. D. In the dining room.
9. A. A fried egg and some cakes. B. Some noodles.

C. A fried egg, some bread and some milk. D. A glass of milk.
10. A. At home. B. At a restaurant. C. In a shop. D. In a hotel.
Section C

Directions ; This section is to test your ability to comprehend short passages. You will hear a
recorded passage. After that you will hear five questions. Both the passage and the
questions will be spoken two times. When you hear a question, you should
complete the answer to it with a word or a short phrase (in no more than 3
words ). The questions and incomplete answers are printed on your test paper. You

should write your answers on the Answer Sheet correspondingly. Now the passage

will begin.
11. This announcement is to tell students of new
12. In the summer holidays, the buses will leave the school gate during the day.
13. The dining room will serve three meals a day from 7:00 am during the week.
14. During the summer holidays will be served on weekends.
15. Students must have a if you want to use the library lending services.



Part II Vocabulary & Structure (15 minutes)

Directions: This part is to test your ability to construct grammatically correct sentences. It

consists of 2 sections.

Section A

Directions : In this section, there are 10 incomplete sentences. You are required to complete

16.

17.

18.

19.

20.

21.

2.

23:

24.

each one by deciding on the most appropriate word or words from the 4 choices
marked A, B, C and D. Then you should mark the corresponding letter on the

Answer Sheet with a single line through the centre.

Having finished the letter, he it carefully and sealed the envelope with a kiss.
A. folded B. bent

C. turned D. equipped

The police were given an order that the stolen documents must be recovered at all

A. accounts B. conditions

C. payments D. costs

We’ve been looking at houses but haven’t found we like yet.

A. one B. ones

C. it D. them

A great celebration is going to be held  the distinguished writer.

A. in spite of ' B. in honor of

C. in favor of D. in the name of

All the members in the jury agreed that the man was _ of theft.

A. criminal B. charged

C. guilty D. faulty

— You know, Bob is a little slow  understanding ...

— So I have to be patient _ him.

A. in; with B. on ; with

C. in ; to D. at ; for -

With more forests being destroyed, a huge quantity of good earth _ each year.
A. is washing away B. is being washed away

C. are washing away D. are being washed away

The storm left,  a lot of damage to this area.

A. caused B. to have caused

C. to cause ’ D. having caused

He  have completed his work; otherwise , he wouldn’t be enjoying himself by the seaside.
A. should ‘ B. must

C. wouldn’t D. can’t



25. — Don’t you think it necessary that he to Miami but to New York ?

— I agree, but the problem is he has refused to.

A. will not be sent; that B. not be sent; that

C. should not be sent; what D. should not send; what
Section B

Directions: There are 10 incomplete statements here. You should fill in each blank with the
proper form. of the word given in the brackets. Write the word or words in the
corresponding space on the Answer Sheet.

26. Having arrived at the station, she found the train (go)

27. Now that we have finished the exercises, let’s sing a song to make ourselves (relax)

28. If she (fail) again, she might be dismissed .

29. You'd better stay here for another two days, (had) you?

30. The brave soldiers would rather die than ( surrender) to the enemy.

31. (see) from the top of the hill | the village is very beautiful.

32. The streets look much beautiful now. The city government ( beauty) them by
planting many trees.

33. The new equipment should (able) doctors to detect the disease easily.

34. Monitor requested your (present) at next meeting.

35. The management was worse because the regulations were not ( effect) carried out.

Part I Reading Comprehension (40 minutes)

Directions ; This part is to test your reading ability. There are 5 tasks for you to fulfill. You

should read the reading materials carefully and do the tasks as you are instructed.

Task 1

Directions : Afier reading the following passage, you will find 5 questions or unfinished
statements , numbered 36 to 40. For each question or statement there are 4 choices
marked A, B, C and D. You should make the correct choice and mark the
corresponding letter on the Answer Sheet with a single line through the centre.

About ten men in every hundred suffer from color blindness in some way; women are
luckier — only about one in two hundred is affected in this manner. There are different forms of
color blindness. A man may not be able to see deep red. He may think that red, orange and
yellow are all shades of green. Sometimes a person cannot tell the difference between blue and
green. In rare cases an unlucky man may see everything in shades of green — a strange world
indeed.

In certain occupations color blindness can be dangerous and candidates are tested most



carefully. For example, when fighting at night, soldiers use light of flares to sigﬁal each other.
A green light may mean “ Advance” and a red light may mean “Danger! Keep back!” You can
see what will happen if somebody thinks that red is green! Color blindness in human beings is a
strange thing to explain. In a single eye there are millions of very small things called “cones”
(HEIRZIME ). These help to see in a bright light and to tell the difference between colors.
There are also millions of “rods” (#UAFTFZHfifl) but these are used for seeing when it is nearly
dark. They show us shape, but not color. Wait until it is dark tonight, then go outside. Look
round you and try to see what colors you can recognize.

Birds and animals which hunt at night have eyes which contain few or no cones at all, so
they cannot see colors. As far as we know, bats and adult owls cannot see colors at all; they
see only light and dark shapes. Similarly, cats and dogs cannot see colors as well as we can.
36. According to the passage, who is more likely to suffer from color blindness?

A. Girl B. Man C. Children D. Woman
37. Millions of “rods” in our eyes are used for showing us

A. shapes only ~ B. shapes and colors

C. colors only D. darkness only
38. According to the passage, bats and adult owls cannot see colors, because

A. they hunt at night B. they cannot see light

C. they have no cones and rods - D. they have no cones
39. According to the passage, dogs and cats

A. as well as human beings can not see some colors

B. have fewer cones than human beings

C. have less rods than human beings

D. can see colors as well as human beings
40. Which of the following statement is not true?

A. There are different forms of color blindness.

B. Sometimes a person cannot tell the difference between blue and green.

C. Color blindness can’t be dangerous in any jobs.

D. Some animals have no cones at all.
Task 2

Directions: This task is the same as Task 1. The 5 questions or unfinished statements are
numbered 41 through 45.

Every year in all kinds of different countries around the world, a small number of people
win huge prizes in lotteries. People are always dreaming of winning millions of dollars overnight
in a lottery.

People often wonder what they would do if they won one of these large sums of money.

They have many different ideas.



Some people say they would give it away to charities (23 #L#4). Others say they would
give most of it to their families. Some people just list all the things they would buy.

One evening three friends were talking about what they would do if they won millions of
dollars.

The first man asked the other two, “What would you do if you woke up one morning and
discovered you had won fifty million dollars?”

His two friends thought for a few minutes, then one of them said, “I'd buy the biggest
house in the world. Or maybe I’d buy several houses in different parts of the world so I could go
and live anywhere 1 like. They would all have to have wonderful views, of course. And I'd
employ hundreds of servants to look after me and take care of all my beautiful gardens.”

The other said, “I'd spend my life traveling around the world. I'd go to Africa, North and
South America, all over Europe and anywhere else I wanted. I’d stay at the best hotels. I'd eat
only the most expensive food and wear the finest clothes. ”

The two men turned to their friend who had asked the question. “And what about you?
What would you do if you woke up-one morning to discover you had won fifty million dollars?”
“ Oh, I'm a greedy person. I’d go back to sleep and try to win another fifty million,” he said.
41. What are lotteries probably?

A. Casinos (3%) B. Groups of people

C. Gambling *D. Prizes
42. People often

A. wonder what they would do if they won a lottery

B. win lotteries and then wonder what to do

C. give their money away to charities

D. borrow money from lotteries

43. The three men were talking about

A. the future B. the past

C. their favorite holidays D. how they would spend a lottery prize
44. One of them said that he would '

A. travel around the world B. give it all to charities

C. refuse the prize D. buy a factory and employ many workers
45. The third man wanted

A. to give fifty million dollars away B. to devote his life to doing good

C. to get more money D. to spend all day sleeping

Task 3
Directions : Afier reading the following passage, you should complete the information by filling

in the blanks marked 46 to 50 for each blank, you should write in the table below

in no more than 3 words.



Titanic

It was on April 10, 1912, when the Titanic sailed for New York. She was carrying more
than 2200 people.

At that time she was not only the biggest but also the finest of all ships, for she had six
compartments with her. If four of them were broken, she would still be able to stay on the
water.

Four days after setting out, while the Titanic was sailing across the ocean, the man on
watch suddenly saw a very large iceberg, 100 feet tall. The great ship turned in time, but
before long there was a sudden sound from below. The noise was so low that no one knew what
had happened. The captain went down and was greatly surprised to see that five of her
compartments had been broken. The Titanic was going down fast.

The captain gave the order to give up the ship and hundreds of people jumped out into the

water. At least over 1500 people lost their lives because there were not enough lifeboats.

Titanic
Titanic was 46  ship at that time because she had six 47 . Titanic 48 the first

iceberg in time. But something 49  her from below and made her went down fast. 50

enough lifeboats, many people lost their lives.

Task 4

Directions ; The following is a list of terms in Olympics. After reading it, you are required to
find the items equivalent to ( 5 -+ %16 ) those given in Chinese in the table
below. Then you should put the corresponding letters in the brackets on the Answer
Sheet, numbered 51 through 55.

A — Olympic flame

B — host country

C — gold medal winner

D — opening ceremony

E — Olympic theme song

F — International Olympic committee

G — dope test

H — candidate city

I — national team

J — organization committee

K — Olympic village
L — registration for the competition

M — team leaders’ meeting



N — practice with the door closed
O — competition venue
P — notice board

Q — judges’scoring boards

Example: (D) JF#:( (A) Bizxk
3. ) BiZE 4 K ( ) HES
52. ( ) EZKEA ( ) B UNZR
53. ( ) ZRiE[E ( ) BB
54. ( ) SFEHREF ( iR =
a3, { ) &HfeE ( ) 2k

Task 5

Directions ; Afier reading the following passage, you are required to complete the statements
that follow the questions ( No. 56 through No. 60). You should write your answers
in no more than 3 words on the Answer Sheet correspondingly.

$100 Laptop Created for World’s Poorest Countries

A laptop has been developed that will cost only $100 and it is said that 200 million of the
world’s poorest children will be provided with one over the next few years.

The $100 laptop — nicknamed the “Green Machine” for its vivid green cover — was
developed by researchers at Massachusetts Institute of Technology ( MIT) in the US. UN
Secretary Kofi Annan described the invention as “inspiring” and said it may have the potential
to change lives in poorer nations.

“Studies have shown repeatedly that kids take to computers much more readily, not just in-
the comfort of rich countries’ living rooms, but also in the slums and remote rural areas of the
developing world,” said Nicholas Negroponte, chairman of MIT’s media laboratory, adding that
targeting children would be crucial to bridging the technological gap between the world’s richest
and poorest countries. The laptops will be covered in rubber to protect them from bumps and
scratches ( filfi{# #11#£447) . They will combine the latest technologies and some very new ideas.
The computers were designed to be used in areas with little or very occasional electricity supplies.
They have a handle that can be turned for 10 minutes to provide one hour of battery life.

56. What is “Green Machine?”

It is the of $100 laptop.

57. How did UN Secretary Kofi Annan evaluate this laptop?

He evaluated it

58. What does the phrase “in the comfort of rich countries” refer to?



It refers to ;
59. Why targeting children would be crucial?

Because it will bridge the between the world’s richest and poorest countries.
60. Why the laptops are not easy to damage?

Because of the of the rubber.

Part IV Translation — English to Chinese (25 minutes)

Directions: This part numbered 61— 65 is to test your ability to translate English into
Chinese. Each of the four sentences ( No. 61 to No. 64) is followed by four choices
of suggested translation marked A, B, C and D. Make the best choice and mark
the corresponding letter on the Answer Sheet. Write your translation of the
paragraph ( No. 65) in the corresponding space on the Answer Sheet.
61. If only he had known this illness could be cured, then he would not have killed himself.
A HAME SFERE T LA, A Aapa.
B. U Ml AGE R R AT LR, XA RS ART .
C. {HEAMRIE R LR, A SERT .

- BJRABRE R A AR, A ART .

62. For many people, animals are an emotionally contributing member of the family, an active

ol

and important part of their lives. v

A, MAFZ AN, ShPRENKEEMTTIR, R ]r B A 25850

B. XL A, SRR EMETIE . B EEMT.

C. MHFZANME, SPRFAEFRN—0T, RAMPRHESR . LW 0 —

whar o
D. MAFZATMIE, SRR EMITIRMRES T, e PR 5
10—

63. These problems deserve your immediate attention so that the service will improve as soon
as possible.
A, XEEREHE RIS RV EAL, P —A AT et SO IR 55 .
B. X SERIEAIRA 17 2 BV A, R —A T Bkl 2 Al 55 .
C. XUE[RIRARA I 2L BV, AR AT Gt 5 el 55
D. kSRR S BV AL, DA AT AR R G R 55
64. When we look at this closely, it shouldn’t be all that much of a surprise considering indoor
air pollution is confined to enclosed spaces.
A YEANEHEEES, BRENTGYRATEE A2 B A A 50E .
B. FAMFAEAE, XA RN, BT NS5 YR RTEE P2 6] 5,
C. FAUFMERE, KBA RN —MEE, HAENITEYRRLEE A2 [ 5L
D. FAUFHBER, XBARA—MEE, FHRENZ TG R R AR P 2 E
9



65. To make your first encounter a positive one, start with a firm handshake. If the interviewer
doesn’t initiate the gesture, offer your hand first. Whenever you have a choice of seats,
select a chair beside his or her desk, as opposed to one across from it. That way there are

no barriers between the two of you and the effect is somewhat less confrontational ( XSz

().

Part V ‘ Weriting (25 minutes)

Directions : This part is to test your ability to do practical writing. You are required to write a
letter of application according to the following instructions given in Chinese.
Remember to do your writing on the Translation/Composition Sheet.

BRI kK, RIS T B RER 2 b, BT L0, HRRMF LR
PRAE MR T B 22 K 1) [ PR BT ST A B MU ARIBSR , B — B (H 40 T BL 22 R A e
) EAT, REDH L RRMREMLE A RIERE, HREEWN LR —6, DUtRE
MR 2 R A e A > 1R R 98 HE R B
Words for reference :
2+4-2£( a bachelor’s degree
754 FR5 the Title of Excellent Student
faj B catalog
fai Jf1 resume
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